EE1.1 fRE

o(1) /+752
=/(*75(2) <« ZMD2ENME
=/ 12 2
=6

e(2) 10 3 - 25 5 / *

(10 3-)(25 5 /)% <—2IBND¥&
75 %
35

EE1.2 %

e(1) x —y % z
-X*yz

e(2) b*xb-4%*a*c

—*%bb**4ac

HEVRRELRES



HE1.2 fRsh

o(1) x —y * z

PERIF. EBEx LBy *xzDE
FIHy*zI[X, *yz
<=
-X*yz

EE1.2 fEER (%)

e(2) bxb-4*xa*xc
>k, I bxb LIF dxaxc DE
»>18 b*b [£ = *bb
»>IB4xa*cld, IH4*a (= *4a) EIHc
ND¥E =x*x*x4ac

<~

~*bb*x4dac

HE1.3ME

o(1) x—y * z
Xyz*-

e(2) b¥b-4*axc

bb*4a*xcx*-

HEVRRELRES



EE1.2. 1.3 g
e(2)Mbx*xb-4x%xax*cl,

-*%bb*4%xac (A1)
bb*4ac*x*x- (RE)
LY,

>MBEEFERFS. OFY
4xaxclX(4x*xa)*xcThHY.
4 * (a * ¢) TIEXELY,

BE1.2.1.3 i (Fx)

e HIEREE © HERLE « RERE
DEMEIT>TH, H(ER DIERF
[FEHDRL
| +tab®a+beab+ |
FIEEEEFOMEBRENAEDLD

EirThd

EE1.4 BE
o fZZ 5 (1) —— Java

public static int fib (int n)

if (n<=0)

return O; // fib(0)=0
else if (n==1)

return 1; // fib(1)=1
else

return fib(n-1) + fib(n-2);
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int  fib (int n)

if (n<=0)

return 0; // fib(0)=0
else if (n=1)

return 1; // fib(1)=1
else

return fib(n-1) + fib(n-2);
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